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OPTION-A
Paper : CHE-SE-3034
( Basic Analytical Chemistry)
Full Marks : 50

Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Answer the following questions : {any Sour)
1x4=4
wore Fais e fim ¢ (Repreat 51f35Y)
(@) What is algal blooming ?

orgplbe (T F 2
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(b) Name the disease caused by excess
fluoride in drinking water.

cmmﬁwa@f‘w;ﬁﬁw%ﬂﬁf‘qu
QA @R F15 By |

(c) What is bio-preservation ?
&g W & o
(d) What is gradient method of elution ?

T A NI 5 2

(e) What is the role of emulsifiers used in
cosmetic formulation ?

S AR SIS TAfRReraeR B
&2

(/ What is Dowex A-1 ?

TEH A-1 [Fo
2. Answer the following : (any three) 2x3=¢
OIS TR T v o (Reercant fofasy)

(@ Do you think that an instrument of
high precision gives always an accurate
result ?

%ss-ﬁg’awwﬁmﬂwwaﬁim
ﬁ%mﬁﬁ?ﬁﬁ?m{%WW?

3 (Sem-3/CBCS) CHE SE/G 2



(b) Can all toothpastes be considered as a

cosmetic product ?

FECEN GACIBCIR 2 A Zpiee Sloy i<
AN 2

(c) Why is EDTA mostly used in
complexometric titration ?

IACLT LS SliziePRe EDTA &%
ITTONE 9 4 W2

(d) The working principle of Gel permeation
chromatography is based on which

sorption mechanism ?

o ANEE (@ smfea e
@R o iRt esiee wikifRe 2

(g How can Reverse Osmosis (RO)
technique be used for large-scale water

purification ?

Rofe TRA 4% S0 (@S 78 AR
o il elfeFare IR IR A2
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3. Answer the following : (any two)
5x2=10

were AT Te’ i 3 (R go1)

(a) What are preservatives ? How are they
classified ? Give few examples of each
class. 2+1+2=5

sifRTrenz & ¢ CRER afieem
T I W2 ATORE (WA Sriddl
A

(b) Discuss the general principle of
chromatographic separation with
reference to migration rate and
retention time. What is Rfvalue ? Why
is it significant ?

3+1+1=5
(A AP IFINR AGRA TSGR
SRS QT W 4R I FATATE SN

9| Ry WA ot 3 el 2 301 o wagoief @

(c) What do you mean by ‘complexometric
titration’ ? What are masking agents ?
Explain its role in complexometric
titration with suitable examples.

‘ 2+1+2=5
wfoet S 3o R gt 2 e @rerS -

R R 2 S wfbe wrpem o
I Sfirsl 1yt |
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(d) What is meant by tests of significance ?
What are those tests ? Briefly discuss
each test. 1+1+3=5

e AT I [ IS 2 GIR AR
5 5 2 ATSIFE! ST HAE GG 341 |

4. Answer the following questions : (any three)

10x3=30
wore i e S faat ¢ (Reeren fofabn)
(a) Write short notes on : 2%x4=10
5 (It fordl ¢
(i) Standard deviation
T Rpife
(i) Chelating agent
R arers
(iii) Food processing
vy AN
(iv) Arsiron Nilogon
wifae e
Contd.
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| (b) () What is DVB ? What is its role in
ion-exchange resin ? What is the
basic difference between cation-
exchange resins and anion-
exchange resins ? 1+1+3=5

DVB & ¢ sima-Rifmm @fme 3w
ol & ¢ (FoRm-RFT o< G iRe-
i @Efems wee atew & ¢

(ii)) Discuss some important

applications of ion-exchange
resins. 5

wEe-RRT @R @me ssged
A9 [T S 54 |

(¢) (i) What are the major ingredients of
cosmetic products ? Discuss the
role of each ingredient in the

cosmetic formulations. Give
examples. 2+3=5
WA AT @ Gz & 7
AE AN AFodaee ATOIFCo!

GRS Sl 3591 | (IR
Tuigael fira |
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(i) What are deodorants and
antiperspirants ? How are they
different ? Why are antiperspirants
considered as quasi-drugs but not
as cosmetics ? 2+1+2=5

fore’Ts wi% «FoARFATES I
& 3= ¢ Fiden e orew & ¢

GFHAFAETS T I g

fPITAITR o 1 2F, i A

fZpital 7=y, 57 2

(d) What is water pollution or water
contamination ? Discuss various

sources of water contamination.
2+8=10

oI agma 5 2 oi epEeR iR Tt
R R nesat 4

(e) () What is sampling ? What are
different sampling methods used
in water analysis ? 1+4=5

Wﬁ{%ﬁﬁs{@ﬁm@aw
SR 3 & AR e A F
29 ¢
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(i) What do you mean by dissolved
oxygen (DO) ? Discuss the
principle of determination of
dissolved oxygen in water.

1+4=5
aqge ¥ I & q@t ¢ sife
Eqg S AHTR i1l Refy Tt Aimfon
o TSt Scetvat w11 |

() () What are significant figures ? How

many significant figures are there
in 1012 x10~4 ? Do the following
calculations and round off the

answers to appropriate number of

significant figures : 1+1+3=5
(A) 35678 mg + 2.17mg +5.0mg +2.91mg
(B) 0.156 cm3 x 9,938 gcm=3

LS SFER R 2 1-012 x10-4

D! AL W g 2wy FER

T B I O FETEER BT

ML I TS o ¢
35678 mg +2.17mg + S5.0mg +2.91mg
0.156 cm3 9.238 g cm-3

(A)
(B)
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(i) Define mean and median. For
titrating 25mL of a given
copper (I} solution, the volumes
of the standard hypo solution used
were 20.2, 19.5, 19.9, 20.7 and
20.0 mL. Calculate the mean and
median of the consumed volumes.

2+3=5

51T % ST AW &1 | 25mL FAR
(1)-9 9 <951 SEIs TR IR
@l oWl QRe-E B SR 2
20.2, 19.5, 19.9, 20.7 &% 20.0
T T % T el 10
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' OPTION-B
Paper : CHE-SE-3034

(Chemical Technology and Society)
Full Marks : 50
* Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any four questions from the
following : 1x4=4

e 1Al e Rzt 1A el i ¢

(a) Give two examples of natural polymer.

757 eiPpfos TReaIMa Swret |

(b) Which light is responsible for ozone
layer depletion ?

(PlIZRT (IO IMT o $I1 FY IR 2
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. .{c) - Which. element is mostly used for
vulcanization of rubber ?

' ST (FINCB! GTIET AIYREATS
I TN W2

(d) What is meant by relative humidity ?
wieifFes wwet e [ 3o e

(e) What is genetic engineering ?

s Sgfmie & 2

(i What are the gases responsible for acid
rain ?

wifrs 9gR A MR o & R e

2. Answer any three questions from the
following in brief : 2x3=6

woTs faml eiRa R oAb T i 3

(a) What is the difference between chemical
engineering and chemical technology ?

@Wi@ﬁmﬁzm@ﬁwcﬁm
sere 9w 2
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(b) Discuss briefly the effect of acid rain
on the environment.

43T ¢sive WIfFF YT AR AT
=G 394 |

(¢) What is alternative energy ? What are
different alternative energy sources ?

e & : Reg eI T B/ ¢

(d) What is meant by thermoplastic and
thermosetting plastic ?

AR o AeRHs e I 5 3o 2

(e) What is solar energy ? How does it
work ?

OTR =& & ¢ 3 (e & 3@ 2

3. Answer any two questions from the
following : 5x2=10
woTe frat e Rl ghiT Tee f o

(a) Briefly discuss the greenhouse effect
and its causes.

CREEZ ASR W R PRERF S
SIS 4 |
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(b)) What are the steps may be taken to
prevent the water pollution ? Discuss

briefly.
Al IR S S AR & & e @
=, 5T s 4 |

() Discuss briefly different compositions
of soil.

Wifog Rfew siom efEed 30 et 3|

(d) What is clean energy ? Discuss different
types of clean energy briefly.
el «fe & 2 [fon o 7wl fes Raa
BT HICEH |

4. Answer any three questions from the
following : 10x3=30

weTe Tl epTIe Ricetear fofabrq Tes ¢

(@) Explain the social effects of soil
pollution with suitable example.
Discuss various sources of soil

contaminations.

T eErd e eATe & deR (e
T TUEPR FIY T W emEeIs
fon GeTaR] REc oA F1|
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(b) What is synthetic polymer.? Discuss
the uses of different plastics with
suitable examples. How do plastics
create problem to the environment ?

. Discuss.

e M B 2 Rion a3 4t
TR TATS THIZEIIE ST 711 | A
AR QoS FET T A8 I 2
SCEAol 34

(c) Explain briefly Material Balance and
Energy Balance of a system with
chemical reaction.

qBt swfex Y S W= S Sy
e RiFn e wissat 1

(d) What is meant by energy crisis ?
Discuss briefly how nuclear fission and
biofuel can be used as g probable
alternative sources of energy.

& 6 M [ got 2 efrar e o
mimm*fﬁﬁ%@‘i’ammmas
SIS 34 |
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(e) Describe different technologies used in
chemical industry.
6 F |

() Explain the term ‘manufactured drug’.
Discuss different steps used in genetic
engineering. How are proteins
synthesized ?

agfoge ghg e & @ ¢ @Ehe
Uyfee age ReT SR S 41 |
AT (I oS T W ?

3 (Sem-3/CBCS) CHE SE/G 15 Contd.



OPTION-C
Paper : CHE-SE-3074
(Intellectual Property Rights)
Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in Ensligh or in Assamese.

1. Answer the following questions : 1x4=4
©oTS Rl TR TeR I 3
() Why are geographical indications
important ?
Sl Figfer ooy 2
(i) What is composite trademark ?
iR mifis B e

(i) What is the period of industrial design
and renewal period ?

ammmww%aaww
s oRa s e
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(iv) What basic inclusion is made in
WTO Treaty that came into force from
01-01-199S5 ?
01-01-1995-F *} ITHI! (I, WTO
e & Tl weee (% ?

2. Answer the following questions : 2x3=6
oot Al TR O il 8
(i) Write the consequences of failure to
renew a patent. 2
(IS AT e oAfRetr & 79 T
(i) (a) How are patent and discoveries
related ? 1%

TR TS (U501 TAE & 2

(b) ‘Gene sequencing is patentable’.
—Write ‘correct’ or ‘incorrect’ for

this statement. Yo
3w S (A5 PRI AR | —SfSTo!
‘wg’ 7 qoT Tl

(iii) What is ‘collective trademarks’ ? 2

‘@Y GuNd B wrl
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3. Answer any two questions from (a), (b), (c)
and (d): 5%x2=10
TS @l (a), (b), (c) W% (d) I R got oms
ey it ¢

(@ (i) Write four products where
industrial designs are applied. How
is industrial design different from
trademark ? (2x4)+2=4

ST oz IR FR4 1, ISt e

W T @R B, GeaFels RvE
ST 2

(i) How is Madrid Protocol related to
WIPO ? 1
T T IS WIPO 3 5o s 9

(b) (i) Write, how products are protected
under geographical indication.
How can g person trade a

geographical indication tagged
product ? 2+1=3

WWC@KW%W%
@fcmquw@?mw

NN I G PR
T IR oAigg 9
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(i) Write the principles of Paris
Convention. 2

o5 piereias Soimia o

() () Explain the statement, ‘Copyright
is property.” How is it related with
royalty ? Is copyright taxable ?

1%+1+%=3

TR 1Y T — TR 9T TN

5T w50 3R TF & 2 IRV
T MZ IR AR 2

(i) Write the difference between
licence and assignment of
copyright. 2

TR VT W< TR
Ay B 2

(d) What are the obligations of government
towards protection of biological
diversity ? How are plant breeders’
rights protected under Intellectual
Property Rights ? 3+2=5

7o) abaeR TR AfS 5T MEEe! [
il Oe ¢ (s T SRR SETe
Sfew FoR SR (IS FTw 9 2
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4. Write the answers of any three questions
from the following (a), (b), (c), (d), (e) and (f)
options : 10x3=30

weT1S 7 (@), (b), (), (d), (o) =% (f) I Riewc
folant awig Teg o ¢

(@) (i) Why and how can registered layout
designs be assigned to others for
use ? Who can register a layout

design and what are registerable
items ? S

T R (T AGTET TN AGRT T
IR AW /O N W ? (SRR
AN AGEH TR AR S @I AOR
T AGEW FRT AT 2

(i) Write about the obligations of
patent holder. 5

(oIT5™ AT FOIT 9 Bl |

(b) () Write four salient features of GATT
Agreement. 4

GATT Rf%= elam 511357 tafeiy v
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. (i) Write in short about International -
Agreements of India on
trademarks. 6

SIS HEHOF TI© GO
T@eiat sfcg, G R vags o

(c) (i) How do TRIPS Agreement provide
definition of ‘trademark’ ? Does
trade-mark symbol expire after a
set term of time ? Write four
qualities of a good trademark. How
does it help people in business ?

1%2+%+4+1=7

TRIPS pf$= W @Guaid sl & ¢
Goake = Wi @< RS g oiies
a3 I @R 2 IO O GENES 170!
TSy T | TINTS T RS HD
E 2

(i) Write in short, inception and
development of Intellectual
Property Right in world. 3

e (ifEE e Sfitei wivsh o
RN @S 2e, B |
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(d) () When and where Budapest Treaty
signed and entered into force
internationally ? Write the
significant point of this Treaty.

(ot Yot Ye)+1%=3

oA AfE @fom, v ws
B SFOI a6 (afeeT ¢ 3 AR
Ty SARM |

() Write about the responsibilities of
a copyright owner. 3

GRRF FHRIP wRefe ey Ra@
fomat |

(iii) In business, how trade secret is

used ? How can a person protect
trade secrets of its own ? 2+2=4

TS, IRFARRS CofioiTzre| s 5

R o I (069 IR (il
T [ive 57 9

(e} (i) What are integrated circuits ? Give
€xample. Why and how its

protection is required ? Can it be
patented ? How long does

Protection last jp layout of
Integrated circyit ?

1+1+3+1+2=8
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ST T8 & 2 oY Bard fal | R
R (AT 2R JIHI ARISH 2 330
A5 IRT AMRE 2 wehe ToT9
ATHE Wi AN e A 2

(ii) Differentiate GATT from GATS.
2

GATT W% GATS- 2y &t

(/ () Define industrial design. Why and
how is it under Intellectual
Property Right ? 3+3=6
T T T QI 2 [ w9 @
| @ i i Tuge I
F3 A7 ¢

(ii) Write the structure and functions
of WTO. 2+2=4

WTO-] 515 &% I &, & |
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